These questions are about Apatosaurus (Dinosaur factsheet number 21) Year 5 and 6
1.
So it probably locked its legs and went to sleep standing up.

In the sentence above, which word is the possessive pronoun?  ..........................................
Which word is the pronoun?  ……………………………………………………………..…………………………………………
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 2. Explain why Apatosaurus may have had 
     difficulties lying down.
                 
…………………………………………………………………………………………………
………………………………………………………………………………………………..
………………………………………………………………………………………………..
2.
Record 4 facts relating to the tail of an Apatosaurus.

1. …………………………………………………………………………………………………………………………..………………………..
2. ........................................................................................................................................................

3. .........................................................................................................................................................
4. ………………………………………………………………………………………………………………………………………………………

3.
Apatosaurus means deceptive lizard

What does deceptive mean?    .................................................................................................

4.        Give one reason why the Apatosaurus was most likely to keep its head bent down.
               ...................................................................................................................................          
 5     Show the types of books where this information on the Apatosaurus may be found, by circling 

        your answers.  

	fiction
	encyclopaedia
	dictionary
	biography

	fantasy
	information
	science fiction
	non-fiction


	             Tick to show the true or false statements.
	True
	False

	Reptiles breath less than most other animals
	
	

	Apatosaurus weighed less than Diplodocus
	
	

	Apatosaurus had trouble pumping blood to their brains
	
	

	It is likely Apatosaurus did not lie down to sleep.
	
	


6.
